

or ie!

A is not into

is not into

$$f_m, \begin{cases} a + \sqrt[n]{x} & x < 1 \\ b + \sqrt[n]{x} & x \geq 1 \end{cases} \rightarrow f_m, \begin{cases} a + |x| & x < 1 \\ b + \sqrt[n]{x} & x \geq 1 \end{cases}$$

$$a \leq b, a+b=1 \rightarrow b = \frac{r}{r}, a = \frac{1}{r} \Rightarrow f'(m) = \begin{cases} -1 & x \leq 0 \\ 1 & 0 < x < 1 \\ \frac{rn}{r\sqrt[n]{x}} & x \geq 1 \end{cases}$$

$$f_m, \begin{cases} a-x & x < 0 \\ a+x & 0 \leq x < 1 \\ b + \sqrt[n]{x} & x \geq 1 \end{cases} \rightarrow f'(m) = \begin{cases} -1 & x < 0 \\ 1 & 0 \leq x < 1 \\ \frac{rn}{r\sqrt[n]{x}} & x \geq 1 \end{cases}$$

$\Rightarrow$ is not into

$$f_m = \frac{|x-1|}{\sqrt[n]{x}} = \frac{|x-1|}{\sqrt[n]{x}} \xrightarrow{x \rightarrow 0^+}, f'(m) = -\frac{1}{\sqrt[n]{x}} \cdot (x-1) \cdot \frac{rn}{r\sqrt[n]{x}} = -\frac{rn}{r\sqrt[n]{x}} = -\frac{rn}{r\sqrt[n]{x}}$$

$$\Rightarrow, x \geq 1 \rightarrow f'(m) = -\frac{1}{r}, g_m = \frac{(x-1) \cdot \sqrt[n]{x}}{r\sqrt[n]{x}} \Rightarrow g'(m) =$$

$$\frac{\left(-1 + \frac{r}{\sqrt[n]{x}}\right) \left(\sqrt[n]{x}\right) - (x-1) \left(\frac{rn}{r\sqrt[n]{x}}\right)}{\left(\sqrt[n]{x}\right)^n} = \frac{-1 - \sqrt[n]{x}}{r}$$

$$\Rightarrow -\frac{1}{r} + \frac{1 - \sqrt[n]{x}}{r} = \frac{1 - \sqrt[n]{x}}{r} = \frac{1}{\sqrt[n]{x}}$$

$$f_m, \begin{cases} bx+c & x < a \\ \frac{1}{x} & x \geq a \end{cases} \rightarrow ab+c = \frac{1}{a}$$

$$\rightarrow -\frac{1}{a} + c = \frac{r}{a} \Rightarrow c = \frac{1}{a}$$

$$f_m, \begin{cases} b & x < a \\ b + (x-a)^m & x \geq a \end{cases} \rightarrow f_m, \begin{cases} 0 & x < a \\ m(x-a)^{m-1} & x \geq a \end{cases}$$

$$m \geq 1 \rightarrow m \geq 1$$

$$m \geq 1 \rightarrow m \geq 1$$

$$g(\sqrt{x}) = f(g(\sqrt{x})) = (f \circ g)(\sqrt{x})$$

$$\Rightarrow x = \sqrt{x} \Rightarrow f(m) = \frac{1}{\sqrt{x}} \Rightarrow f \circ g(m) = \frac{1}{\sqrt{\frac{x}{n^2}}} = n$$

$$\Rightarrow (f \circ g)'(m) = 1 \Rightarrow x' = 1$$

$$f(x) = -x - \delta, f'(x) = -1 \Rightarrow f(x)' - f(x) = -x - \delta - (-x) = -\delta$$

$$x \Rightarrow a = -\frac{x}{x} \Rightarrow f(x) = -\frac{1}{x} \Rightarrow \frac{f(x)}{f'(x)} = \frac{-\frac{1}{x}}{\frac{1}{x^2}} = -\frac{x}{1} = -x$$

$$g(n) = f(n+1) = f(n+1) \Rightarrow g'(n) = f'(n+1) = f'(n+1)$$

$$\Rightarrow g'(x) = f'(x) = f'(x) \Rightarrow g'(x) = \frac{x}{x} + \frac{1}{x} = \frac{x+1}{x}$$

$$\lim_{n \rightarrow \infty} \frac{(f(n))' - f(n)}{n - n} = \lim_{n \rightarrow \infty} \frac{f'(n) - f(n)}{n - n} = \lim_{n \rightarrow \infty} \frac{f'(n) - f(n)}{n - n}$$

$$\Rightarrow \frac{f'(x)}{0} = \frac{-\frac{1}{x}}{\frac{1}{x^2}} = -\frac{x}{1} = -x$$

$$y = \frac{1}{x} \Rightarrow y = \frac{1}{x} \Rightarrow m = \frac{1}{x} \Rightarrow m' = -\frac{1}{x^2}$$

$$\Rightarrow (m' - m) = -\frac{1}{x^2} - \frac{1}{x} \Rightarrow -\frac{1}{x^2} - \frac{1}{x} = -\frac{1+x}{x^2}$$

$$x \Rightarrow x' = \frac{1}{x} \Rightarrow \frac{1}{x}$$